B.A. (E-Ist)/G/2021(CBCS)CCIA/GE1
B. A./B.Sc. 1st Semester (General) Examination, 2021 (CBCS)

Subject : Economics

Paper : CC1A/GE1
(Microeconomics)

Time : 3 Hours Full Marks : 60

The figures in the margin indicate full marks. Candidates are required to give their answers in

their own words as far as practicable.
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1.  Answer any six questions 6x5=30
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a.

What is utility? State the law of diminishing marginal utility? Is there any exception to this
law?
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Graphically explain the difference between change in demand and change in quantity
demanded.
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. What is cross price elasticity of demand? When the cross price elasticity of demand is

positive and when is it negative?
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. What are average product and marginal product? Explain the relation between them.

T TeoAe W3R 2ANfTF TeAW FIE I 2 SIfend oG Teofive 32 2SS Seomea Sty
ooiE0 A 9 |

What is opportunity cost? Describe the shape of average fixed cost curve (AFC).
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What are the characteristics of perfectly competitive market?
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g. Discuss the idea of the different returns to scale of production.
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h. Discuss the relation between rent and price.
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Answer any three questions 10x3=30

([ @Il foalb e e wie)

i. Explain how the demand curve for any commodity can be derived from Marshall's marginal
utility curve.
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ii. What is price effect? Show that price effect is the sum of income effect and substitution
effect.
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iii. Explain how the long run average cost curve can be derived from the short run average cost

curves.
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iv. Discuss the liquidity preference theory of Keynes.
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v. State the marginal productivity theory of distribution. Do you regard this theory is acceptable?
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